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UNITS OF MEASUREMENT

Common units used with the International System

 UNITS OF MEAS. | ABBREV.

meter
hectare
tonne
kilogram
nautical mile
knot

liter

second

hertz
candela

Metric system

mm | millimeter

m centimeter
dm | decimeter
m | meter
dam decameter
hm

km kilometer

| hectometer

Note: Prefixes also apply to

I (liter) and g (gram). Canadian
preferred spelling: metre, litre.

Conversions
to go from
am e
m =
km =3
m? -
lmr =
to go from
g —
kg =
3 —
ml =
L -
Temperature

‘C> ‘F:nx18; add 32

_ RELATION | UNWSOFMEAS. ABBREV. RELATION
m | length degree Celsius | temperature
ha | area kelvin thermodynamic temp.
t | mass pascal pressure, stress
kg | mass joule | energy, work
M | distance (navigation) newton | force
kn | speed (navigation) watt | power, radiant flux
L volume or capacity ampere electric current
s time volt electric potential
Hz | frequency ohm electric resistance
cd | luminous intensity coulomb electric charge
English system -’—.
001 m 1foot (ff) =12 inches (in) ;.__
1=12" !
S i 5
Im SERTE) R | 1tablespoon =3 teaspoons
Tm 1 mile (mi) = 1760 yards Tcup (0 =16 tablespoons
10m | 1pint (pt) =2 cups
100 m Isq.foot =144sq.inches | 1quart(qt) =2 pints
| 1000 m 1sq.yard =9 sq. feet \ 1gallon (gal) =4 quarts
| 16 ounces (0z)  =1pound (Ib)
Tacre =4840 sq. yards | =
- 43560 ft | Tton (T) 2000 pounds
1sq. mile =640 acres
Length | Area
to multiply by togofrom  to multiply by
in 03937 in = an 254
ft 3.2808 ft =7 m 03048
mi 0.6214 mi = km 1609
ft? 10.76 ft? = m? 0.0929
miz 03861 mié - km? 259
Weight [ Volume
to multiply by to go from to multiply by
0z 0.0353 oz = g 2835
Ib 2.2046 Ib =5 kg 0.4536
i 11023 i = t 0.9072
floz  0.0338 flloZAsEs> ml 29.575
US gal 0.2642 USgal — L 3785

°F 5 °C: (1-32) x 0555
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Formulas
Area of A ABC Pythagorean | Rectangle Parallelogram Circumference
=bh | e [ NG oflaEicle
| i _3 O
s =
u | | Perimeter = 2( +w) |
=t : | ‘ R | Areaof ABCD=bh = Areaof
AR C ol | acnrcle nrZ
Slfm;ace area Volume of i Surface area Surface area Surface area of
of this prism = | apyramid | of cylinder = a sphere = 4xr?
2hw + 2hl + 2wl _Bh | 2mrh + 2n

S i

h | Volume of

Volume = Iw

B = area of base
Angles and triangles

aright angle
is 90°

A/_.
@—m

D

a straight angle is 180°

equilateral tnangle

60" 3 sides of
equal length,
0" 60" 3 angles
of 60° each
Congruency cases
: side, side, side
side, angle, side
angle, side, angle
Circle terms & theorems
tangent Zx=90°

Q

a cylinder = wreh

an acute angle is

isosceles tnangle

&

Volume of4
asphere = %

| of acone {
L :
| Volume
of a
cone
_Bh
e

B = area of base

an obtuse angle is
N\ more than 90° but

oot less than 180°
two complementary angles

1 complete - add up to 90°
o 5”9;‘9635 two supplementary angles
ation - add up to 180°

scalene tnangle

2 sides of no sides equal,
equal length, no angles
base angles equal
are equal
hypotenuse,
side
Za=/b Cis the center of
¢ angles subtended the circle

on the same
arc AB
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TRIGONOMETRY ALGEBRA

Slopes - o7 seat WL Shedeioation St /G Expanding Factoring Roots of a quadratic
g (b +Q= ab +ac 52 b= (a 5 b) (a b) The solution for a quadratic

Equation of a straight line

y-y,=mx-x) or
i =ﬁ$ =AY_= YZ“)’, y=mx+b

el = 3I0Pe < run AX X,=X  where m=slope, b = y-intercept
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Trigonometric ratios

 tand = 5"Yoso T+cot?0 = csc0

| sin%-+cos0 = 1

sin = y (oppositefhypotenuse)=li.cq

cos® =i(adjacentjhypotenuse) Yeeco

; C0s%0- 5|n26 0526
{
i

y=sin(x) y=cos(x) y=tan(x)

N
Eﬂ
=

-27%° -180° 0°

tan® =)¥ (opposite/adjacent)=Tcote T+tan? =secd | secd=Top
sin 30° = 12— sin 60° =§
cos 30° =‘/g; cos 60° =—.12— ]
tan 30° =‘/]3: tan 60° =V3" .
sin (A+B) = sin Acos B+cos AsinB  cos (A+B) =cos AcosB-sinAsinB  tan (A+B) = Tt_a—?‘_;g%%%% .
sin (A-B) =sin A cos B-cosAsin B cos (A-B) = cos A cos B+sin Asin B on (A5) = tanA=tanB . 3
1+tan Atan B . }
Cast ' Value of trig ratio [ 8
{[e 0 |72 | = [Z]| 2n
Quad Il T Quad | sine |01 0[]0 €
i sin+ all ratios+ & = T .
Quad I i Quad IV tan® |0 @ [0 0] .. .
tan+ cos+ | RGN
- = undefined (infinite) 2 radians = 360° .
Sine a-b-c B Cosine  a2=p?+2-2bc cos A
law sinA sinB sinC c 2 law b?=a2+ - 2ac cos B .
A C c?=a%+ b?-2ab cos C
: e
y

o b)Z—aZ dabsb
(a+b)2—.32+2ab+bZ

a+b)(c+d) ac+ad+bc+bd

a3b ab= ab(a+1)(a i

: a3+ b3 (a+b (az—ab+b2).

(a + b)3 = a3+ Bazb + 3ab2+ b3

F (a b) -a3 3azb+3abZ

Law of exponents

Ifa,beR,a,b>0,andp,q,r,sareeQ, then:

3 =

1] a'a5—¢aHS Ao
E as =3
B (ar s =3"
£ (aby=abr
ay’ _ &
5] (b) 2. 6=0)
@ °=1e=0
B o= at-va =97

=]E, (a=0)

VV a3 b3 (a

equation ax®+bx+c=0 is given

(a+by by the quadratic formula

a2+ Zab + bZ

i _-bEVb*-4ac
Zab sbP= (a b)z ' > 2

b) (a2+ ab + bz)m

Logarithms
Log (xy) = Log x + Log y
" Log (%) =logx-Logy
: Log X' =r Log x
Logx=n <> x=10" (Common log)
; Logx=n « x=a" (Log to the base a)
Lnx=n « x=e" (Natural log)

7 = 3.14159265

e=271828183

MULTIPLICATION CHART
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